o
=

o A P, Qo s P+ QE AlYSHE, & 7= (9)

X,
Holat, Alo] 2 (O) ol @, ©°f do2 =

e = Mzt

P = 5x%y + 2y? + 2x°
Q = x* - 3y? + 2xy?

>
>
> dEE 94
>

dE2. 09

719 A elstH
= 3x3 + 5x2y + 2xy? — y?
= 470011 A T2 90|t




2.

(x - 2y - 32)2& AABte] xoll hT ARe02 Helsha?

@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y? +12yz 4 92° + (—4y — 62)x + x*

® 922 +4y? + 12

(x =2y —3z2)? = x? — (4y + 62)x + 4y* + 12yz + 92°




SRR (522 + 3x + 1)2 & AASHAL W, 22 9] AL

® 10 @ 13 ® 16 @)19

® 25

B

(5x% + 3x 4 1)(5x2 + 3x + 1) | A

1) (A% (L2 9] 3¢ 9x2

i) (1) x () o % 2 x 5x?
=, 5x2 + 5x% 4 9x% = 19x?

19




4.

(a+b)(a® —ab + b*)(a® - b3) O] A2 &2 AL2?

O a3 +p? @ ab + b (@)aﬁ—bﬁ
@ a° 4+ b° ® -0




D xy? @ x%y
@ —2xy? @—3)(2}12

@ x2y2

A+ 2B

= —-3x%y?

= (4xy? — 2x%y + 3x%?) + (2x2%y — 6x2y? — 4xy?)




® x2y°

(@)—x5y4 @ —xy®

@ xy°

@) —x4y5

xy(-xy)? = 22y (-xy%) = —x°y*




7. T (a-b)(@® +ab+ b?) & ISR

® a®-b? (@)a3—b3
® a4 b? @ a® + 3ad%b + 3ab® + b3

® a® - 3a®b + 3ab® - b®

A 1 (a-b)(a® +ab+b?) =a-b3




8. P=a®+4a?h+ 2ab?, Q = —2d%°b + 3ab®> - b® & W, 3P-20E
A ArsEH?
@ 3a® + 12a°b + 2b3 @ 3a® - 12a%b + 2b3
@3(13 + 16a>b + 2b° @ 3a® + 8a%b + 2b3

® 3a3 - 8a2b + 2b°3

3(a® + 4a®b + 2ab?) — 2(-2a?b + 3ab* - b?3)
= 3a® + 12a®b + 6ab?® + 4a%b — 6ab?® + 2b°
= 3a® + 16a%b + 2b*




(4xt = 5x% +3x% —dx + 1) + (»® —x+ 1) = Axt tle o, %
e 2] 9] b FehH?

@4x2—6x+1 @ 4x2-7x+3 ® 4x2-4x+5

@ 4x%>-8x+2 ® 4x2-6x+7

A3 Yol A F3ict,
B4 —x-2, YA 5x+3
ST YR O] e 4x% - 6x 41




10. o334 23 + x2 + 3x & x2 + 1 2 Yae U A =2

(@)x—l @ x ®1
@ x+3 ® 3x-1

B

44 ol n
x—1
241
Hi2x+1, YA x-1

(2x+1) +




11.

x o e A A = 2% 4 5x° +4 & HZA B 2 Y 1, KOl
| B ?

2+ 1 013, X7} ~6x 42 o]k, o] v, Tk B 2 ot
@x2+2x—|—2 @ x24+x+2 ® x2—x+2
@ x2-2x+2 ® x2-3x+2

B ~

A=B(2x+1)—6x+2 oA

B(2x +1) = 2x® + 5x% + 6x + 2

S B=(2x3+5x2 +6x+2) + (2x+ 1)
=x?+2x+2




12, T £(x) 2 202 + 3x 4+ 22 LHEQIEY Fo] 3x—40]1, A7
2x+50190ek o] W, £(1) 9] Zhe?

®-1  @o ® 1 @ 3 ® 5

B

f(x) = (2% +3x +2)(3x —4) + (2x + 5)
= 62>+ 922+ 6x—8x2 - 12x -8+ 2x+5
=6x34+x2-4x-3

L f)=6+1-4-3=0

f(x) = (2x +3x+2)(3x —4) + (2x + 5)
F1) = (243+2)(3-4)+(2+5) =~T+7=0




(a+ b)? = a® + 2ab + b?
(a—b)? =a®-2ab + b?
(a+b)(a-b)=a*-b*

® (a-b)(a®>+ab+b?) =a® - D>
®

(a+b)(a® —ab+b*) =a® +b?

R

(a+b)a-b)=0" +®@

Q' =022
(a+b)(a-b) =D+ =a>-b?
. (a+b)(a-b)=a®-b*




14.

ok 1Yo ARl A A HE)
ol Uteh Ale A9 AAFALS W, v

POl AGE?

D -2 @ -1 ® 0

i)

[V

®:

_-THY~  3y.

JETY

(x 4+ 4y)(3x) = (x + y)(x =)
=3x% + 12xy — x2 +y?
=2x% + 12xy +y?




(x+1)(FP-x+1)=x>+1

a+2b-3c)® = a®+4b2 + 9¢2 + 4ab — 12bc — 6ac

—_—~ o~

©)
@
@ (x+2)(x*-2x+4)=x3+38

@(xz—xy+y2) (2 +xy+y?) = x* —xB? +*

® (x-1)°(x+1)2=x'-222+1

@ (x* - xy+y?) (X2 + xy +5?)
= (& +5%)* - ()
= xd b x2y? 4y




16.

U A A, Bl Histe] A - BE F51H?

A =2y? + x*> = 3xy, B=—4x% - 2xy + 5y

@® 5x% - 2xy + 3y? (@)5x2 — xy — 3y?
@ 5x% + xy + 3y @ 5x% + 2xy — 3y?

® 5x% + 3xy +3y?

B

SRI7E At £

A—B = (2y? + x? - 3xy) — (—4x% - 2xy + 5y?)
= 5x% — xy — 3y?




